Is the moon there when nobody looks?

N. David Mermin
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Eigenvalues:
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Three Observable “Color Properties”
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Eigenvectors



Eigenvectors of the observable C,




Eigenvectors of the observables C , C,
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Eigenvectors of the observables C , C , C,
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Suppose the particle's 1-color is RED and we measure its 2-color




Projecting R, onto the eigenvectors of C_ (2-color)




Projecting R, onto the eigenvectors of C_ (2-color)




Squaring the magnitude gives the probability




The 2-color becomes GREEN with 75% probability



Suppose the particle's 1-color is RED and we measure its 3-color




Projecting R, onto the eigenvectors of C, (3-color)
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Projecting R, onto the eigenvectors of C, (3-color)




Squaring the magnitude gives the probability




The 3-color becomes RED with 25% probability
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